A1 =TV A — DS RERERR

R AR e iE B ST R R

ORIEH =  WIEI5S/ERT PA—1000
ORIERE B NEHEZ DM £ 1mTHRIE

R WEE | BM | il
R AZ2=Tr I F— 68 15H 10:40 0.054
BAREIZS2 =TV 5— 6A15H 8:45 0.096
mE&I=a=T1E252— 68158 10:45 0.081
ERF\AIZ2a=TrE2E— 68158 14:15 0.056
FEISA =T V52— 68 15H 10:30 0.059
RIS =T 23— 68 16H 11:00 0.057
RAEIZ2=TaEU5— 68 15H 9:00 0.060
HRAZ2=TaEVF— 68 15H 9:10 0.054
EREIZa =T R— 68158 8:40 0.065
REEIZ 2T 5— 68 15H 8:45 0.071
RFEIAZSa=Ta4E5— 68158 8:50 0.084
RIS 2=TaE5— 68 15H 10:45 0.073
KEFIAZa=TaEIF— 68 15H 9:45 0.057
ENAZa =TV E— 68198 9:30 0.077




